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Physics S.S.C (10'")-A-2022 5
Paper : 1L Group:1 Objective 0’:/ m:.,;,/ M: 24
Time : 15 Minutes (i) 2 15 oF)
Marks : 12 PaperCode |7 |4 |7 1 S-G90 12: 4
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A ii.»)

Q.1 Questions /= Ui A B c D

1. bnbaftibiol Lo el | g g 1.89s 1.79s 1.69s
Time period of simple pendulum of 1m length is:

e st E L 25°C _ N N

2. » ‘ » 6020ms™ | 6030ms™! | 6040ms! | 6050ms™!
Speed of sound in Nickel at 25°C is:

e AL LES SIS R AL 4F sl 2F SF | sl Fusi0 4 2F

311 get virtual image from the convex lens the object OnF Between F and 2F | Between O and F Beyond 2F
is kept:

iafhg 6uF A120F 2 A~k 5%
e BN Pz 612V &

" "‘f‘{’ dun.e-teeiind 1 o 124F 1607 18F
Two capacitors of capacitance 12juF" and 6puF are :
connected in parallel with a 12V battery.

The equivalent capacitance is:
5 -:;”llué—f/”{lﬂ/éf—b"’?;ﬂ)&yjﬁ}if;" ‘ é' 2 &, gf’/ s JInBuiA
) In. parskel combnation OF IRESIONR G ReisinF Voltage Current Resistance BothAand B
will have same:
% & »j }'.
-4—&“’&952—0;5'1— 23542 ‘ﬂu/é:-u‘b (ﬁu/é—(j/f U{')J}{LGJ"I gﬂu)fo’f

6. ) «[WO - Conservationof | Conservationof | Conservationof | Conservation of

Lens's law is a manifestation of the faw of:
mass energy charge momentum

7. iorgOrlefuslled hbbeios | go0,=0 | A=1B=1 | 4=0B=1 | 4=1B=0
The output of a two-input NOR gate is 1 when:

8 8o IS 5N L ALY Lizsf Ls e
if CD is made of metal then it is called: Hard disc Floppy disc Compound disc Metallic disc

_q—an(yjkdiluw:l,ﬁéii’JJ ; .
9. | During the buming of 1 ton of coal, amount of | 3.6x10'%J | 4.6x10%s | s56x10'% 6.6x10'%7

energy released:
w ol bon, 1 _
10. _4,._,»1]&6 y 27 . T ¢
. Symbol of fixed resistor is: '
1 In step up transformer: i Vs >Ny Vo>V Ve>Vp Vs>Np
12. oo S D o IS S JL 1820years | Ji 1920years | JL 1620years | JL 1720years
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Physics S.5.C (10*)-A-2022 U9
Time  : 1:45 Hours Group: 1 Paper (ID 24 ig: .f,f s S
Marks : 48 Subjective (1 ot -Cro w: A
Note:~ Section B is compulsory. Attempt any two (2) questions from Section C. oz Luproeictr o g Bipno el
. (SECTION-B (».”)
2.  Write short answers to any five parts. (6x2=10) .ég/’ bz LAzlé]‘c.&f 22
i. State Ohm’s Law and give its equation. 2 .-,W;Swméuwiwﬂ i
ii. How many watt-hours are there in 1000 Joules? ‘-‘dLﬂ»T..’abZLﬁ'-dmOOO Wi
iii. What is transformer, on what principle it works? g b S S g pA i
iv. State Faraday's Law of electromagnetic induction. ' -Ei"‘c)&fd]?l—ejq h UL n3 v
v. Whatis the difference between atomic number and atomic mass? ?4.(5 $1q u‘lulo(f.ml /(,tt v
vi. Write the “ o —decay” process by equation for 22 Ra (Radium). &  becbb i L LG e ®Ra (£4) i
vii. Define Kilowatt Hour also write formula to find energy in kildwatt hour. -é S8/ 2t Aif(f&/’lu:&b:’}:'éq A8 sTn¥ Vi
viii. Define Fission Reaction and write its equation. ,2 .:«bl/(fululédj 6&?{'6/(? Wviii
3. Write short answers to any five parts. (5x2=10) .é;/’ al_di/’; L»x;sy(,‘}f .3
i. How does the distance of vibrating body affect the loudness of sound? i‘q_b'/ 7@4( fu'fbl!d}&_byﬁc.(’-.’.ni.f il i
——___ii.__Whatis the relationship.between pitch and_frequency_of sound? S’z,_.(f’_'t_):u;uiibf&fﬁ;wl(iéjuT_.ii_
iii. Give an example of each charging by friction of plastic and glass rods. & ,db‘.ﬁdjéuﬁ;(gé—lsé‘f }(5}5&0’ .3 uhﬂﬂ; i
iv. Whatis meant by an electroscope? Is it easy or difficult to use? i'e}bTLq,f J* U1t .,f’; ,‘Q_I v
V. Whatis a flash drive? sebalris? v

vi. What are main services used on the internet? Write their properties. _ég Foler? Sersuts’s, s S a2 21 i
vii. Give a relationship between speed, frequency and wavelength of sound. Lok .é bl E&-’ ,_m,uf" £ ;1_4#6 Al i

Why the speed of sound is greater in liquids than glass? s Qosls il bilyt
viii. What is Capacitor? Define its Capacitance. -éd_/l' &ff &ﬂ‘.'q.. '8 }../5( Jviii
4. Write short answers to any five parts. (5x2=10) E 7l B Ll ds 4

i. Differentiate between time period and frequency. ,édkd}u?-u} £)ub§/5r‘t‘ i

ii. Derive a relationship between velocity, frequency and wavelength of wave. ,Z_é};l(:)w u(_,mL;-@.’gmlf £ /:(,‘5" Uy i
iii. Define Damped Oscillations. EIZ s sl i
iv. State Snell's Law and write its formula also. _é‘f (f uf,tsvmméww/‘wd.‘/ v
v. Differentiate between convex and concave lens. éuw)uy,,L Ay AEF

-érf’u’”: sl Peiim 52E el j ¥ Ae 30° et Foi_e QoL b Srbcine $&s i

vi. Aray of light enters from air into glass. The angle of incidence is 30°. if refractive index of glass is 1.52 then find the angle

of refraction'r".
vii. Which logic gate is called inverter? Draw its symbolic diagram. __é—-('grlf (1ts u»dmvdz&{ 1hfss JUJ Wvii
viii. Differentiate between analogue electronics and digital electronics. -éul;d /'ulg,fé ) %Jl(ﬁ{‘ 3 (f b) }:.'Lﬁ b i

SECTION — C (Each question carries nine 08 Marks) (2 /7L Jiv 2) fre
5. (a) Define Electromotive Force. Explain with schematic diagram  (1+3) é‘f}»}gﬁ#g:_ﬁf /_é\.e/f(fu’;ﬂn M () 5

for measuring potential difference in a circuit. _éyu;:,mdﬂ/ L Lu" k
5) A L LI nff %b’;wéwém-cfuv,a;_db57skoa{614 -k )

(b) Carbon~14 has a half-ife of 5730 years. How long will it take for the quantity of carbon-14 in a sample to drop to
one-eighth of the initial quantity?

6. (a) Indicate two dangers in use of 1.C.T in society. 2+2) Li!{-z—dt,é&cﬁéal Pl 1.CTUELy (W) 6
Write some steps to avoid these dangers. ,ég_/’ =5l

Sibar e S Z NI £ j s e 812307 1 Bom Bos /. 330ms™ LS utins £ 2L6 L ()
5) ?*ébd’-»xd
(b) Ata particular temperature, the speed of sound in airis 330ms™. if the wavelength of a note is 5cm, calculate the
frequency of the sound wave. Is this frequency in the audible range of the human ear?
7. (a) Explain with an activity “waves as carrier of energy”. (2+2) ,égbadf PpII P P Y dﬁ’ g4 /»4..@..{!!6/‘1}4: i .7
®) c(ﬁfgq,ﬁ,g,bjgérkﬁﬁd%q_& 5.66cm £ L6101 41046 34.4em 0 p il (D

(b) Find the focal length of a mirror that forms an image 5.66cm behind the mirror of an object placed at 34.4cm
infront of the mirror. Is the mirror concave or convex?
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that

(SECTION-A (ii.»)

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will resuit no mark.

Q1 Questions /=iy A B c D
LBlgtthskiltlem 2L L, 57 2 L]
¢ ~ i & ‘
.+Lfiqd{!b/,zr€ 45.8cm &£ iy A -2
e An object is 14cm in front of a convex mirror. The ~4.lem . T .
image is 5.8cm behind the mirror. What is the focal
length of the mirror?
, lpeld | L L L | A
" | D stands for: ComputerDisc | Chemical Disc | . Compact Disc None of these
4 SRidsl ks J B =l S
" | Radio waves are: Staﬁonary Electromagnetic Particles Mechanical
. g ST g 1.33 1.52 221 2.42
The index of refraction of diamond is:
& et $ad St S F ot et o oA A e
5. | The screen of cathode ray tube consists of a material Zinc lron Phosphor Glass
called:
6. JE’(‘J‘J V:__ﬂ/_’:(_f L fv.'.ﬁ [ £ ol oy U
Michael Faraday belonged to: British USA KSA Russia
7 ebbbdaloh |y g X=A4+B X=4 X=4B
The equation of NOT operation is:
fé’:wl.‘;fé—ﬁéz(yﬁf/ffbgﬂ&r/ygﬁfl
8. ufd s | (33507 | Stnes Sz batts Satonts
If we double both the cumrent and the voltage in a Remains Become half | Become double Become
circuit while keeping its resistance constant, the power; unchanged quadruples
o Uir EahSIINAT | £nl SIS szl SSr zheeefl |2l et
9, z Jk&l{ z }L’Li L
The Coulomb's Law is valid for the charges which are: Moving and Moving and non- | Stationary and Stationary and
point charges point charges point charges |large size charges
7t 3 L of ke
10. Y C;UU_‘CU" WH of}rdfé.u’ 2¥| 1 2 3 4
The number of neutrons in Hydrogen isotope fH is: v
11, &b AF 1Tl ¥ 3508 45l g :E) is iﬁ.’g; ;zd{-a
The loudness of a sound is most closely related to its: Frequency Period Wavelength Amplitude
,4,0“7 a5 mis” L3508
12. | The relation between velocity, frequency and | = 7 =* Jh=y Vi=f V'—'%
wavelength of awave is:
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Time : 145 Hours Group : II Paper (D 24 bpra: v’/ L SULE '-'-':’f
Marks : 48 Subjective 361 Sew -G 232 48: S
Note:- Section B is compulsory. Attempt any two (2) questions from Section C. Aoyzlurseldiatfr o iitnm i
(SECTION-B /».»)
2. Write short answers o any five parts. (5x2=10) Ephr F Lkl s’ 2
i. [ftworesistors R} =6 and Ry =12Q are connected Gl TEbtzed p1ef R =12Q M Ry =6Q 1 5n/1 i
in series. What will be the equivalent resistance? S'(Syrp’ f b
ii. Can atransformer operate on direct current (D.C)? Justify. X :Jlif?zr(:cf [ w2/ o1 Y2 A
iii. Write down any one method to determine the north pale of current 2 BILOHES o7 FUya kL 2t brs S i
carrying solenoid.
iv. Prove electric power P = IR P=1’R s\J) et v
v. Write the names of two devices for safe use of electricity. _é rl:L.-AIT @k 67252 dU"" ld%é(f R
vi. Write two Radioactive elements other than Uranium. . -ég/’ k lehj,&/ » D}U‘LF}Jl Vi
vii. s it possible for an element to have different types of atoms? Justify. iz ?u!éx 7?.![_(3 o LJJ@(&QL’ il
viii.  Define Controlled Chain Reaction. ,é..z ¥l GJEILSM.':'-ﬂ; ,‘f Wviii
3.  Write short answers to any five paris. (5x2=10) é;} ez [z'l:ﬂék_éf .3
i. What do you know about E-Commerce? State. ,éugvuzz,w ?,TDV LU s
ii. Whatis meant by Super Computer? T3 e by A, i
iii. Write down two factors which affect the ability of capacitor. _2{'4 4 ;%."»a.ua;mmﬁu,,fmdk-‘( Jii
iv. Whatis the unit of capacitance? Define it. _é..yﬁ (5(/ ?4;..9’ "ﬂ‘f'f(ﬁ{ v
v.  The capacitance of a parallel plates capacitor is 1 00pLF . Find the (':"" Aﬁfé G- 100pF Jf 65) (é%'f:,é,'g)'lﬁug R
value of charge when potential difference between platesis SOV . 250V u’: jff"{al /ldﬁ fléé
vi. What is loudness of sound? Write two factors affecting it. Z Iy 9l A4S 4ol ol < BSLTSESSY i
vii. What s sound? How is it produced? e Oy, el i
viii. Calculate the frequency of sound waves of speed 340ms™! 2 0.5m a“@iwl 340ms ! &réw,éé(}” Lf“ £ /'éigj»’:jl/ WViii
and wavelength0.5m .
4.  Write short answers to any five parts. (5x2=10) : ,ég/’ ez F Lzl &ééf A
i. Whatis meant by crest and trough in transverse waves? Ceslplf etme s U?-J‘f:w/'l/‘ i
ii. A simple pendulum completes one vibration in one g=10ms 2 f’éﬂ” Gyqu_v/ d;' ﬂ jl:;ﬁgﬂ-bng:}g‘ﬁ’ ;,Q Ri
second. Find its length when g=10ms"2
iii. Whatis meant by restoring force? st e b b, i
iv. Define Magnification and write its formula. & Urzwmuléq A &?—“ L?!'/ v
v. Radius of curvature of a concave mirror is 10cm. Find its focal length. ,érl” iz.'.’Jiéu‘L4.10cm ,;’-:f afgﬂ-ﬁ;b’;/'_ﬂ/ uﬁ v
vi. What is meant by Accommodation? gl e Pl i
vii. Define AND Operation and write its formula. _Z 191 luléu’_f ¥l SSTAND i
viii. Write down uses of logic gates. é; F el lLui{ L viii
SECTION - C (Each question carries nine 09 Marks) (£ /I Iy ) froe
5. (a) Define Electric Current. How battery is used as 4t LBl IS jf.-él.:g A8/ S (WD 5

6.

7.

source of current. Explain it with diagram. (1+2+D _éécwu::_rff LBYQB(!J‘JWI
7200055 S AAESITE A et/ Lot Qs et 12V 7240V piditusiab i ()
(+1+2+1 -érf’,wéu,ﬁgﬁmfu,&dmi
(b) Atransformer is needed to convert a mains 240V supply into a 12V A.C supply. if there are 2000 tums on the
primary coil, then find the number of tums on the secondary coil.
(a) Define Electrostatic Induction. Prove with an activity 6’64&0” Sz c’é:«:t‘c-é/ /,é.y,i g flu@’%-‘-‘f () 8
attraction is not sure test. (1+3) _q—M (5?'
4-1500ms™ 4§t OLL 1i” o b/ Urs EAE V1w LN5 s s K81 b s TS 1S Al (L)
® ,é(?’ é’,{ J,/ 4(%1{0’ {
(b) A marine survey ship sends a sound wave straight to seabed. It receives an echo 1.5 s later. The sound speed in
sea water is 1500ms™" . Find the depth of the sea at this position.
(a) Define Wave Motion. Explain with an example (1+3) .éc»lbz,dlﬂ; “de_;éd]idlz'«'l"_éd, ;&f risy (W) 7
“Waves as carriers of energy”.
® Sy iIdEl O e &1 @ 7 16om PG, S g 154 L10.50m copf A4 300m S ()
(b) An object 30cm tall is located 10.5cm from a concave mirror with focal length 16cm. (a) where is the image located?

(b) how high is it?
114-222-A-38000



